addazy
Quant Mega Quiz for SSC CGL (Solutions)

$1. Ans.(c)
Sol.
General formula,
_ cotAcotE+l
cothA - cotB= P e——
S2. Ans.(a)

Sol.

Let the marks scored by two
candidates be x & (x + 23)

ATQ,

— 50
(x+23]—mﬂ[x+x+23]
= x=45

S0, the marks scored are 46 & 69

S3. Ans.(b)
Sol.
ATQ,
.= 619 = ;
) 55l
7
69
S4. Ans.(a)
Sol. TEST SERIES
Chakor's profit = 277200 Bilingual
(3+6+2)
= Rs 50400

SSC CPO 2019

o PRIME

[x+ y)? =%+ y? + 2xy 35+ TOTAL TESTS
=45 +2=18=81
x+y=+B81=09 Validity : 12 Months
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$6. Ans.(b)

Sol.
Slope (m) = E—E:J]
_ [—3—2 = _1
4+1
Eq" = [y —y1) = m{x-x1)
(y=2)=—1(x+1)
y—2=—x-1
¥y =1
S$7. Ans.(d)
Sol.
ATQ,

CSA=mrd =2310
P — 2310 _ 2310

nf  Zyas
r=21cm
TSA =rr(r + &)
==X 21(21 + 35)
= 3696 cm?
$8. Ans.(a)
Sol.
Let the point c be (x, y)
ATQ,
x+§—]. — ] &}r+§-l =2
= x=-"FS&y=7
= Point C= (-5, 7)
S9. Ans.(d)
Sol. ATQ,

\/

N\

6 H 4
3:2
~ Wheat sold at 24% profit

13x100
= x 2

=520 kg
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$10. Ans.(c);

Sol. Except parallelogram, all figures have supplementary opposite angles.

$11. Ans.(d)
Sol.

Alcohol = éx 40 =81
Water = gx 40 = 321

New quantity of water = 32 4+ 10

=42f
. Alcohol _ 4
" Water 21
$12. Ans.(b)
Sol.

a-6,a-4a 2,a,at+2,at+4a+t+é
La=31

New average = 9a/9 = a= 31

$13. Ans.(a)
Sol.
Yhoys = 24b
¥ boys — 36 + 30 = 23.5b
24b -6 = 23.5b
Or0.5b=6

Or,b=12

$14. Ans.(a)
Sol.

Let CP = 100

~SP =150

Now, SP=75 & CP = 200
So,Loss =125

Loss%h = % % 100 = 62.5%

TEST SERIES
Bilingual

SSCCGL TIER 12018

Previous Year Questions
21Full Length Mocks

Validity : 12 Months
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$15. Ans.(c)

Sol.
105 =0.7CP
Or, CP = 150

So,SP=1.3CP=1.3 x 150
=130+ 65

=Rs 195

$16. Ans.(a)
Sol.

188160 = F('l + 12)
- 100

188160 = P x 2
= % 1002

188160 = P x 12544
- 10000

_ 1881600000
T 12544

= 1,50,000

$17. Ans.(c)
Sol.

Milk = 0.4 x 120

= 48¢

Water =72 £

Quantity of water remaining same
A milk =72f

So, quantity to be added =72 -48 =24 ¢

$18. Ans.(b)

Sol.
d 1 ,
50°""5 - @
d 1 B
ﬁ: t+ i ...(Il]

10d 1
T 30x50 2
=d=100Lkm
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So,in equation 2 +§ =t

13_.
==

100xE
13

=== 46_km/hr
12

~ speed =

$19. Ans.(a)
Sol.
Let distance be 1200 km

+ 400 km at 40 km/hr
300 km at 25 km/hr
& 500 km at 50 km/hr

So,

. 400 300 500
total = "t 55 T 55

=10+ 124+ 10=32 hrs

Lzon

. avg speed = — = 37.5 km/hr
$20. Ans.(a)
Sol.
s1= 2222 — Rs 345.6
Laa
$21. Ans.(c)
Sol.

(V3<I) (B-3B) (Vi-B)  (Jii-VIo)
(V2 T} () (vi-) (Jor -1
(V2= I)+ (VB=2) +(VE- 3) + oo+ (121 - 120)
V1+121 =11-1=10

$22. Ans.(a)

Sol.

J5 10 J5 10 545
e S s T e Mt
N > 51
_ 5-20+10%5

= EJ =7.826

12 Months Subscription

A

PREMIUMPLUS

SSC CGL
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$23. Ans.(d)
Sol.

(=1 N _1\_?: (=1v?
1 I = = = — == Z =
1\_216 'xﬁaj l\L 8 J { 6) 36

S$24. Ans.(d)
Sol.
X+V
- =5

AM = >
x+y=10 (i)
GM =

Xy =4

xy =16 (ii)
x=8y=2
$25. Ans.(b)
Sol.

Work done by Ain 1 day = 4—10 units

Work done by Ain 5 days=5 X (ﬁ) = ;— units

Remaining work =1 — % = % units

Work done by Bin 1 day = =2 units
Bx21 24

Work done by both A and B in 1 day =$ + 2—1 ==

15
Required no. of days = é = 15 days
1=
$26. Ans.(d)
Sol.
Time taken by A =(x+8) hours
Time taken by B = (x+§]| hours
- =t ., 1
Work done together in one hour — + e
. [(x+ﬂ}(x+§}]
Required no. of hours = x =—————— = 6 hours
[2.r+?]
S$27. Ans.(b)
Sol.
Till 3pm the total fill thetank=6+2=8
3n2x2x3
+3y/ +2 4
&h 17h 6h

& total capacity = 24
S0 remaining capacity = 16

16 16

& req. time = -3 = 16 hours

3:2-4
So,time = 3pm + 16 hour = 7 a.m
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$28. Ans.(c)
Sol.
Total work= 124 x 120 = 14880 men days
Work completed in 64 days = i x 14880 men days

= 9920 men days

Remaining work for remaining 60 days X
= (14880 - 9920) men days 2016-18

= 4960 men days Previous Year Questions
120 x 64 =.\I: « 60

TEST SERIES
Bilingual

= 99 Full Length Mocks
9920 4960
M: =64 o e
So, workman reduced = 120 - 64 = 56 Validity : 12 Months
$29. Ans.(c)
Sol.

let the speed of train on level terrain = x km/h

And mountainous terrain = (x - 10) km/h
mountainous level

—— 11T km— <—188 km>
18 111
IR —
x x-10
X =47 km/hr

$30. Ans.(d)
Sol.

Speed of train 20% faster than the car
So,6(t-12.5) =5t

1
=
t= 4111
(5P
Speed of car = ~== 5 =60 km /hr
4
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